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255 T4 2.

>
[> HEeh: 471cm

75x2%3.14 = 15x 3.14 = 47.1( cm)
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D 1m @ 5m @ 7.85m
@15.7m ® 314m

2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk




Fe] 7| o]o] 2ol A]

‘ 15.7x 2+ 3.14 = 10( cm)
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6. 1o Sd10] Zol7} 188 4cm 9 Y] WA O] Lol B emYUi7H?

@ 10cm @ 15cm ® 20cm @ 25cm @300m

(99 E9) = 2x(9 2 €A E) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt




7. The 2T e go] Utk WA S 2 Wiz Lojutd AF
¥ o2 ol g

(FF2] 50l 2emQl 9] UF)=2x2x 3.14 = 12.56( cm)
(2] E0] 4cmQl D] YF)=4x 2% 3.14 = 25.12(cm)
b 9 2 HlE Sofdyth




8. A=29] 64cm® AAA vHH 7 5 ZFE A FA o7 gLt o]
o, BHhE 2 m ol AR

> g o

> ®E D 10.048m

64 % 3.14 x 5 = 1004.8( cm) = 10.048( m)




9. JhubE U9 Wolo] AE FotAlL,

7} >

@ 100.48¢cm? @ 125.16cm? ® 134.16cm?

@ 148.56cm? @ 175.84cm?

~&B

(7t ¥<] Wol)= 9 x 9 x 3.14 = 254.34( cm?)
(4 ¥9] Yol)=5x5x3.14 = 78.5( cm?)
whebA = Ao HWolof A=

254.34 — 78.5 = 175.84( cm?) YUt}




10. 957} 37.68cm<l €O WolE oA L.
» EH: cm?

> A 113.04cm?

"] S @ 37.68 + 3.14 + 2 = 6(cm)
Blo] 1 6% 6x3.14 = 113.04( cm?)




11.

A9 E&71 37.68cm 2 Y 719} 56.52cm 1 ¥ Yot 9l&5 U T

7ht 9 1] ool 25 AL,
> Iél' . CIIl2

> HEHD 141.3cm?

2

A 7te] Htx &

(FF2]5)x2 x 3.14 = 37.68
(FH2] 5 )= 37.68 + 6.28 = 6(cm)
A o] vt2 &

(T2 Z)x2 x 3.14 = 56.52
(HrA]5)= 56.52 + 6.28 = 9( cm)
(¢ 1] wol)-(H 71 Hel)
=(9%x9x%x3.14) - (6 x 6 x 3.14)
= 254.34 — 113.04

= 141.3(cm?)
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> ®EH: 75.36.cm

12cnr

1
12cmQl %)XZ

Z, 92 &) 12em? 9] &

24 % 3.14 = 75.36( cm)
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13.

> =g 27.52cm?

B

AR 712 ¢ 16em
AAF2 9] A2 ¢ Som
Yo ¥t & & 8cm
(A= FEo gol)

:16><8—(8><8><3.14)><%

= 128 —100.48
= 27.52( cm?)

1

= (HA12H9 2] gol) - (212 Wel) x;




14.

A7 25.12cm?l
Hkz]59] Zdo]9] %

>
>

=
H -

HEFD 9cm

B

dolet yol7t 78.5 cm?

o

Q]

i

9l

@ 9=F7F25.12cm Y
[ ]x2x3.14 =25.12
[ ]x6.28=25.12
[ ]=2512+6.28

|:|=4(cm)

=l

Ox(Ox3.14="1785
OxQO="785+3.14
OxO =25

O =5(cm)

445 =9(cm)

@ ¥2] Ho|7} 78.5 cm? ¢l

29 w45 : [
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0
L

26.84.cm

B ~

WxEo] Zo] : [ ]
DXDX3.14XZ=37.68

[ ]x[ ]x2.355=37.68

[ x[ ]=37.68+2355
Dx[lzlfi

[ ]=4cm

=9 : 4x2x3.14x%)+4+4
= 18.84 + 8 = 26.84( cm)




